

SOME REFINEMENTS OF REAL POWER FORM INEQUALITIES FOR CONVEX FUNCTIONS VIA WEAK SUB-MAJORIZATION

MOHAMED AMINE IGHACHANE* AND MOHAMMED BOUCHANGOUR

(Communicated by F. Kittaneh)

Abstract. The main goal of this article, is to develop a general method for improving some new real power inequalities for convex and log-convex functions, which extends and unifies two recent and important results due to M. Sababheh [Linear Algebra Appl. **506** (2016), 588–602] and D. Q. Huy et al. [Linear Algebra Appl. **656** (2023), 368–384]. Then by selecting some appropriate convex and log-convex functions, we obtain new mean inequalities for scalars and matrices, some new refinements and reverses of the Heinz and Hölder type inequalities for matrices. We get also some new and refined trace and numerical radius inequalities.

1. Introduction and preliminaries

Convex functions have played a key role in different fields, including mathematical inequalities, optimization, functional analysis, applied mathematics and mathematical physics. Recall that a function $f : I \rightarrow \mathbb{R}$ is said to be convex on the interval I if

$$f((1 - v)a + vb) \leq (1 - v)f(a) + vf(b), \quad (1)$$

for all $a, b \in I$ and $v \in (0, 1)$. If this inequality is reversed, then f is said to be concave.

If $\log f$ is convex, then f is called log-convex. Accordingly, a log-convex function is a positive function satisfying

$$f((1 - v)a + vb) \leq f(a)^{1-v} f(b)^v, \quad (2)$$

for the same parameters as in (1).

Recent studies of the topic have investigated possible refinements of the above inequalities, where adding a positive term to the left side becomes possible. This idea has been treated in [6, 17, 18, 19, 21, 22], where not only refinements have been investigated, but also reversed versions and much more have been discussed. Research related to the above discussion includes obtaining new forms that generalize these inequalities, getting refinements that minimizes the difference between the two sides of the inequalities and adding some acceptable terms that reverse such inequalities. For example, the

Mathematics subject classification (2020): 15A39, 15A60, 15B48, 26D07.

Keywords and phrases: Convex function, operator inequality, weak sub-majorization, norms inequalities, numerical radius.

* Corresponding author.

inequality (1) was refined and reversed in [7]. Namely, the authors show the following two inequalities

$$f((1-\nu)a + \nu b) \leq (1-\nu)f(a) + \nu f(b) - 2r_0 \left(\frac{f(a) + f(b)}{2} - f\left(\frac{a+b}{2}\right) \right), \quad (3)$$

and

$$(1-\nu)f(a) + \nu f(b) \leq f((1-\nu)a + \nu b) + 2R_0 \left(\frac{f(a) + f(b)}{2} - f\left(\frac{a+b}{2}\right) \right), \quad (4)$$

where $a, b \in I$, $r_0 = \min\{\nu, 1-\nu\}$ and $R_0 = \max\{\nu, 1-\nu\}$.

A generalisation of the inequalities (3) and (4) is presented in [18] as follows.

THEOREM 1. *Let $f : [0, 1] \rightarrow [0, \infty)$ is a convex function, $0 < \nu \leq \tau < 1$ and $\lambda \geq 1$. Then*

$$\left(\frac{\nu}{\tau}\right)^\lambda \leq \frac{((1-\nu)f(0) + \nu f(1))^\lambda - f^\lambda(\nu)}{((1-\tau)f(0) + \tau f(1))^\lambda - f^\lambda(\tau)} \leq \left(\frac{1-\nu}{1-\tau}\right)^\lambda. \quad (5)$$

The main objective of this paper is to provide a unified treatment of convex and log-convex functions. More precisely, we will present a general improvement of Theorem 1. As applications, by selecting some appropriate convex and log convex functions we will derive improved versions of some classical inequalities, that includes scalar and operator means, Heinz and Hölder type inequalities for matrices and the numerical radius.

Before ending this section, let us fix some notations and remind the reader to related concepts about matrices. Let \mathbf{M}_n be the algebra of all complex matrices of order $n \times n$. A matrix $A \in \mathbf{M}_n$ is called Hermitian if $A = A^*$, where A^* is the adjoint of A . The notation $A \geq 0$ ($A > 0$) is used to mean that A is positive semi-definite (positive definite), if A and B are Hermitian and $A - B$ is positive semi-definite, then we write $A \geq B$. The set of all positive semi-definite matrices is denoted by \mathbf{M}_n^+ and the set of all definite matrices in \mathbf{M}_n^+ is denoted by \mathbf{M}_n^{++} . The singular values of a matrix $A \in \mathbf{M}_n$ are the eigenvalues of the positive semi-definite matrix $|A| := (A^*A)^{1/2}$, denoted by $s_j(A)$ for $j = 1, 2, 3, \dots, n$; arranged in a non-increasing order. A unitarily invariant norm $\|\cdot\|$ on \mathbf{M}_n is a matrix norm that satisfies the invariance property: $\|UAV\| = \|A\|$ for every $A \in \mathbf{M}_n$ and for all unitary matrices $U, V \in \mathbf{M}_n$. The trace norm is given by $\|A\|_1 := \text{tr}|A| = \sum_{j=1}^n s_j(A)$, where tr is the usual trace. This norm is unitarily invariant. An important example of unitarily invariant norm is the Hilbert-Schmidt norm $\|\cdot\|_2$ defined by

$$\|A\|_2 := \text{tr}(AA^*)^{\frac{1}{2}} = \left(\sum_{i,j} |a_{i,j}|^2 \right)^{\frac{1}{2}}, \quad (A = (a_{i,j})).$$

Speaking of the eigenvalues of a Hermitian matrix A , we use the notation $\lambda_j(A)$ to mean the j -th eigenvalue of A , when written in a decreasing order.

The comparison between matrices has been done in different ways, among which the Löwner partial order \leq is the strongest. More precisely, when A and B are Hermitian such that $A \leq B$, we infer that $\lambda_j(A) \leq \lambda_j(B), \forall j$, which is another perspective to compare between A and B . Notice that the relation $\lambda_j(A) \leq \lambda_j(B), \forall j$ implies $\sum_{j=1}^k \lambda_j(A) \leq \sum_{j=1}^k \lambda_j(B)$ for $1 \leq k \leq n$. This last comparison is what we call weak majorization, and is denoted by \prec_w . Thus, we have

$$A \leq B \Rightarrow \lambda_j(A) \leq \lambda_j(B), \forall j \Rightarrow A \prec_w B \Rightarrow \| \| A \| \| \leq \| \| B \| \|$$

where $\| \| \cdot \| \|$ stands for unitarily invariant norms. For $A, B \in \mathbf{M}_n^{++}$, $v \in [0, 1]$ and $p \in \mathbb{R} \setminus \{0\}$, the operators arithmetic, geometric, harmonic and power means are defined respectively, by $A \nabla_v B := (1 - v)A + vB$, $A \sharp_v B := A^{1/2} \left(A^{-1/2} B A^{-1/2} \right)^v A^{1/2}$, $A \! \! \! \nabla_v B := ((1 - v)A^{-1} + vB^{-1})^{-1}$ and

$$A \sharp_{p,v} B := A^{1/2} \left((1 - v)I + v(A^{-1/2} B A^{-1/2})^p \right)^{\frac{1}{p}} A^{1/2}; p \in \mathbb{R} \setminus \{0\}.$$

Thus, the value $p \rightarrow 0$ gives the geometric mean, while the values $p = 1, -1$ give the arithmetic and harmonic means, respectively.

In the sequel, we will adopt the following notations for $a, b > 0$ and $v \in (0, 1)$.

$$a \nabla_v b = (1 - v)a + vb, \quad a \sharp_v b = a^{1-v} b^v \quad \text{and} \quad a \! \! \! \nabla_v b = ((1 - v)a^{-1} + vb^{-1})^{-1},$$

to denote the arithmetic, geometric and harmonic means respectively. The arithmetic means for scalars and operators can be rewritten by simplification as $a \nabla b$ and $A \nabla B$ for $v = \frac{1}{2}$.

This paper is organized as follows. After the forgoing section, we state and prove our main results concerning the refinement of Theorem 1 using the weak sub-majorization in the second section. In section 3, we present the application of our main results to scalar means. Section 4 is devoted to present some new refinement of matrix inequalities. In section 5, we discuss a new matrix norm inequalities via convexity and log-convexity and we finish this paper by given some new inequalities for the generalized numerical radius in section 6.

2. Some new inequalities for convex functions via weak sub-majorization

In this section, we give an improved version of Theorem 1. We begin with recalling the theory of weak sub-majorization. Throughout this section, we denote by $a^* = (a_1^*, \dots, a_n^*)$ the vector obtained from the vector $a = (a_1, \dots, a_n) \in \mathbb{R}^n$ by rearranging the components of it in decreasing order. Then, for two vectors $a = (a_1, \dots, a_n)$ and $b = (b_1, \dots, b_n)$ in \mathbb{R}^n , a is said to be weakly sub-majorized by b , written $a \prec_w b$, if

$$\sum_{i=1}^k a_i^* \leq \sum_{i=1}^k b_i^*$$

for all $k = 1, \dots, n$. An important feature of the theory of weak sub-majorization which will be used in proofs of our results is given by the following lemma.

LEMMA 1. [14, pp. 13] Let $a = (a_i)_{i=1}^n, b = (b_i)_{i=1}^n \in \mathbb{R}^n$ and $J \subset \mathbb{R}$ be an interval containing the components of a and b . If $a \prec_w b$ and $\phi : J \rightarrow \mathbb{R}$ is a continuous increasing convex function, then

$$\sum_{i=1}^n \phi(a_i) \leq \sum_{i=1}^n \phi(b_i).$$

In order to accomplish our results, we need some preliminary results as follows.

LEMMA 2. Let $f : [0, 1] \rightarrow [0, +\infty)$ be a convex function and let $0 < \nu \leq \tau < 1$. Then we have

$$f(0)\nabla_\nu f(1) \geq f(\nu) + \frac{\nu}{\tau} (f(0)\nabla_\tau f(1) - f(\tau)) + 2r_0 \left(f(0)\nabla f(\tau) - f\left(\frac{\tau}{2}\right) \right),$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$.

Proof. By using the inequality (3), we have

$$\begin{aligned} f(0)\nabla_\nu f(1) - \frac{\nu}{\tau} (f(0)\nabla_\tau f(1) - f(\tau)) \\ &= \left(1 - \frac{\nu}{\tau}\right) f(0) + \frac{\nu}{\tau} f(\tau) \\ &\geq f\left(\left(1 - \frac{\nu}{\tau}\right)0 + \frac{\nu}{\tau}\tau\right) + 2r_0 \left(f(0)\nabla f(\tau) - f\left(\frac{\tau}{2}\right) \right) \\ &= f(\nu) + 2r_0 \left(f(0)\nabla f(\tau) - f\left(\frac{\tau}{2}\right) \right). \quad \square \end{aligned}$$

REMARK 1. Notice that Lemma 2 presents one refinement term of the first inequality in Theorem 1, for $\lambda = 1$.

LEMMA 3. Let f be a convex function on $[0, 1]$, $0 < \nu \leq \tau < 1$ and $a = (a_1, a_2, a_3)$, $b = (b_1, b_2, b_3) \in \mathbb{R}^3$ be two vectors with components

$$a_1 = f(\nu), \quad a_2 = \frac{\nu}{\tau} (f(0)\nabla_\tau f(1)), \quad a_3 = 2r_0 (f(0)\nabla f(\tau)),$$

and

$$b_1 = f(0)\nabla_\nu f(1), \quad b_2 = \frac{\nu}{\tau} f(\tau), \quad b_3 = 2r_0 f\left(\frac{\tau}{2}\right),$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$. Then, we have $a \prec_w b$, namely, the vectors a^* and b^* have components satisfying that

$$a_1^* \leq b_1^*, \tag{6}$$

$$a_1^* + a_2^* \leq b_1^* + b_2^*, \tag{7}$$

$$a_1^* + a_2^* + a_3^* \leq b_1^* + b_2^* + b_3^*. \tag{8}$$

Proof. In order to prove (6) remark that b_1^* is exactly b_1 . Indeed, on one hand we have $b_1 - a_2 = \left(1 - \frac{\nu}{\tau}\right)f(0) \geq 0$. This shows that $b_1 \geq a_2$. Since $a_2 \geq b_2$, then we get that $b_1 \geq b_2$. On the other hand, we have

$$b_1 - a_3 = (1 - \nu - r_0)f(0) + \nu f(1) - r_0 f(\tau). \tag{9}$$

First of all remark that

$$\begin{aligned} \{(v, \tau) \in [0, 1]^2 : 0 < v \leq \tau < 1\} &= \left\{ (v, \tau) \in [0, 1]^2 : 0 < v \leq \frac{\tau}{2} \right\} \\ &\cup \left\{ (v, \tau) \in [0, 1]^2 : \frac{\tau}{2} \leq v < 1 \right\}. \end{aligned}$$

At this point, we distinguish the following two situations.

If $\nu \in \left(0, \frac{\tau}{2}\right]$, then $r_0 = \frac{\nu}{\tau}$, and so (9) becomes

$$\begin{aligned} b_1 - a_3 &= \left(1 - \nu - \frac{\nu}{\tau}\right)f(0) + \nu f(1) - \frac{\nu}{\tau}f(\tau) \\ &= \left(1 - \nu - \frac{\nu}{\tau}\right)f(0) + \nu f(1) - \frac{\nu}{\tau}f(\tau) + \frac{\nu}{\tau}(f(0)\nabla_{\tau}f(1)) - \frac{\nu}{\tau}(f(0)\nabla_{\tau}f(1)) \\ &\geq \left(\frac{\tau - 2\nu}{\tau}\right)f(0) \\ &\geq 0. \end{aligned}$$

If $\nu \in \left[\frac{\tau}{2}, 1\right)$, then $r_0 = 1 - \frac{\nu}{\tau}$. We may write

$$\begin{aligned} b_1 - a_3 &= \left(\frac{\nu}{\tau} - \nu\right)f(0) + \nu f(1) - \left(1 - \frac{\nu}{\tau}\right)f(\tau) \\ &= \left(\frac{\nu}{\tau} - \nu\right)f(0) + \nu f(1) - \left(1 - \frac{\nu}{\tau}\right)f(\tau) + \left(1 - \frac{\nu}{\tau}\right)(f(0)\nabla_{\tau}f(1)) \\ &\quad - \left(1 - \frac{\nu}{\tau}\right)(f(0)\nabla_{\tau}f(1)) \\ &\geq \left(\frac{(1 - \tau)(2\nu - \tau)}{\tau}\right)f(0) + (2\nu - \tau)f(1) \\ &\geq 0. \end{aligned}$$

This implies that $b_1 \geq a_3$. Furthermore, we have $a_3 \geq b_3$, and so $b_1 \geq b_3$. Hence $b_1^* = b_1$. Moreover, by the previous notes, we have $a_i \leq b_1$ for every $i = 1, 2, 3$. Whence $a_1^* \leq b_1^*$.

The third inequality comes from Lemma 2 and we have

$$a_1 + a_2 + a_3 \leq b_1 + b_2 + b_3. \tag{10}$$

To prove the second inequality (7), the following inequalities should be shown.

$$a_1 + a_2 \leq b_1 + b_2, \tag{11}$$

$$a_1 + a_3 \leq b_1 + b_3, \tag{12}$$

$$a_2 + a_3 \leq b_1 + b_2. \tag{13}$$

The first inequality (11) comes easily from the first inequality in (5) for $\lambda = 1$. For the second inequality (12), since $b_2 \leq a_2$ together with (10), we get that

$$a_1 + a_3 \leq b_1 + b_3 - (a_2 - b_2) \leq b_1 + b_3.$$

Now, let us treat our last inequality (13). We discuss the following two cases.

If $v \in (0, \frac{\tau}{2}]$, then $r_0 = \frac{v}{\tau}$. We have

$$\begin{aligned} b_1 + b_2 - (a_2 + a_3) &= f(0)\nabla_v f(1) + \frac{v}{\tau}f(\tau) - \left(\frac{v}{\tau}f(0)\nabla_\tau f(1) + \frac{2v}{\tau}(f(0)\nabla f(\tau)) \right) \\ &= \left(\frac{\tau - 2v}{\tau} \right) f(0) \\ &\geq 0. \end{aligned}$$

If $v \in [\frac{\tau}{2}, 1)$, then $r_0 = 1 - \frac{v}{\tau}$. Hence

$$\begin{aligned} b_1 + b_2 - (a_2 + a_3) &= f(0)\nabla_v f(1) + \frac{v}{\tau}f(\tau) - \left(\frac{v}{\tau}f(0)\nabla_\tau f(1) + 2 \left(1 - \frac{v}{\tau} \right) (f(0)\nabla f(\tau)) \right) \\ &= \left(\frac{2v - \tau}{\tau} \right) f(\tau) \\ &\geq 0. \end{aligned}$$

Thus complete the proof. \square

In the following, we state our first main results. Our arguments are influenced by the ones given in [10]. The following results as mentioned before generalize the results given by Sababheh in [18].

THEOREM 2. *Let f be a convex function on $[0, 1]$ and ϕ be a strictly increasing convex function defined on \mathbb{R}^+ . Then for $0 < v \leq \tau < 1$, we have*

$$\begin{aligned} \phi(f(0)\nabla_v f(1)) &\geq \phi \circ f(v) + \phi \left(\frac{v}{\tau}(f(0)\nabla_\tau f(1)) \right) \\ &\quad - \phi \left(\frac{v}{\tau}f(\tau) \right) + \phi \left(2r_0(f(0)\nabla f(\tau)) \right) \\ &\quad - \phi \left(2r_0f \left(\frac{\tau}{2} \right) \right). \end{aligned} \tag{14}$$

where $r_0 = \min\{\frac{v}{\tau}, 1 - \frac{v}{\tau}\}$.

Proof. Let $a = (a_1, a_2, a_3)$ and $b = (b_1, b_2, b_3)$ two vectors in \mathbb{R}^3 where the component are the same as Lemma 3. Let ϕ be a strictly increasing convex function defined on \mathbb{R}^+ and let $f : [0, 1] \rightarrow [0, \infty)$. Since $a \prec_w b$, by applying Lemma 1, we get that

$$\phi(a_1) + \phi(a_2) + \phi(a_3) \leq \phi(b_1) + \phi(b_2) + \phi(b_3),$$

or equivalently,

$$\phi(b_1) \geq \phi(a_1) + (\phi(a_2) - \phi(b_2)) + (\phi(a_3) - \phi(b_3))$$

Thus complete the proof. \square

The following theorem represent the reversed version of the previous one. Here we use the previous theorem and some special variable change to get the proof. We also mention that we can prove the following theorem using the same ideas as in Theorem 2.

THEOREM 3. *Let f be a convex function on $[0, 1]$ and ϕ be a strictly increasing convex function defined on \mathbb{R}^+ . Then for $0 < v \leq \tau < 1$, we have*

$$\begin{aligned} \phi(f(0)\nabla_{\tau}f(1)) &\geq \phi \circ f(\tau) + \phi\left(\frac{1-\tau}{1-v}(f(0)\nabla_v f(1))\right) - \phi\left(\frac{1-\tau}{1-v}f(v)\right) \\ &\quad - \phi\left(2R_0(f(1)\nabla f(v))\right) - \phi\left(2R_0f\left(\frac{1+v}{2}\right)\right), \end{aligned} \tag{15}$$

where $R_0 = \min\left\{\frac{1-\tau}{1-v}, 1 - \frac{1-\tau}{1-v}\right\}$.

Proof. First notice that if the function $f(x)$ is convex in $[0, 1]$, then $f(1-x)$ is convex in $[0, 1]$. If $0 \leq v \leq \tau \leq 1$, then we have $0 \leq 1-\tau \leq 1-v \leq 1$. So by changing $f(x)$, v and τ into $f(1-x)$, $1-\tau$ and $1-v$, respectively in the Theorem 2. We obtain the desired results. \square

Notice that Theorems 2 and 3, represent the general version and the general reversed version of Lemma 2, respectively. In the following, by selecting some appropriate convex functions, we gain some very nice and interesting refinement for the correspondent inequalities for convex and log-convex functions that improve the main results of [18].

Replacing f into $\log f$, we obtain the following inequalities for log-convex functions.

COROLLARY 1. *Let f be a log-convex function on $[0, 1]$ and ϕ be a strictly increasing convex function defined on \mathbb{R}^+ . Then for $0 < v \leq \tau < 1$, we have*

$$\begin{aligned} \phi(\log(f^{1-v}(0)f^v(1))) &\geq \phi \circ \log f(v) + \phi\left(\log(f^{1-\tau}(0)f^{\tau}(1))^{\frac{v}{\tau}}\right) - \phi\left(\log f^{\frac{v}{\tau}}(\tau)\right) \\ &\quad + \phi\left(\log\left(f^{\frac{1}{2}}(0)f^{\frac{1}{2}}(\tau)\right)^{2r_0}\right) - \phi\left(\log f^{2r_0}\left(\frac{\tau}{2}\right)\right), \end{aligned} \tag{16}$$

where $r_0 = \min\left\{\frac{v}{\tau}, 1 - \frac{v}{\tau}\right\}$, and

$$\begin{aligned} \phi(\log(f^{1-\tau}(0)f^{\tau}(1))) &\geq \phi \circ \log f(\tau) + \phi\left(\log(f^{1-v}(0)f^v(1))^{\frac{1-\tau}{1-v}}\right) \\ &\quad - \phi\left(\log f^{\frac{1-\tau}{1-v}}(v)\right) + \phi\left(\log\left(f^{\frac{1}{2}}(1)f^{\frac{1}{2}}(v)\right)^{2R_0}\right) \\ &\quad - \phi\left(\log f^{2R_0}\left(\frac{1+v}{2}\right)\right), \end{aligned} \tag{17}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Now, by selecting $\phi(x) = x^\lambda$ for $\lambda \geq 1$, in Theorems 2 and 3, we get the following corollary.

COROLLARY 2. *Let f be a convex function on $[0, 1]$, $0 < \nu \leq \tau < 1$ and $\lambda > 1$. Then we have*

$$\begin{aligned} (f(0)\nabla_\nu f(1))^\lambda &\geq f^\lambda(\nu) + \left(\frac{\nu}{\tau}\right)^\lambda \left((f(0)\nabla_\tau f(1))^\lambda - f^\lambda(\tau) \right) \\ &\quad + (2r_0)^\lambda \left((f(0)\nabla f(\tau))^\lambda - f^\lambda\left(\frac{\tau}{2}\right) \right), \end{aligned} \quad (18)$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} (f(0)\nabla_\tau f(1))^\lambda &\geq f^\lambda(\tau) + \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left((f(0)\nabla_\nu f(1))^\lambda - f^\lambda(\nu) \right) \\ &\quad + (2R_0)^\lambda \left((f(1)\nabla f(\nu))^\lambda - f^\lambda\left(\frac{1+\nu}{2}\right) \right), \end{aligned} \quad (19)$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Now, by selecting $\phi(x) = \exp(x)$, in Corollary 1, we get the following new and important refinement and reversed for log-convex functions.

COROLLARY 3. *Let f be a log-convex function on $[0, 1]$. Then for $0 < \nu \leq \tau < 1$, we have*

$$\begin{aligned} f^{1-\nu}(0)f^\nu(1) &\geq f(\nu) + \left((f^{1-\tau}(0)f^\tau(1))^{\frac{\nu}{\tau}} - f^{\frac{\nu}{\tau}}(\tau) \right) \\ &\quad + \left(f^{\frac{1}{2}}(0)f^{\frac{1}{2}}(\tau) \right)^{2r_0} - f^{2r_0}\left(\frac{\tau}{2}\right), \end{aligned} \quad (20)$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} f^{1-\tau}(0)f^\tau(1) &\geq f(\tau) + \left((f^{1-\nu}(0)f^\nu(1))^{\frac{1-\tau}{1-\nu}} - f^{\frac{1-\tau}{1-\nu}}(\nu) \right) \\ &\quad + \left(f^{\frac{1}{2}}(1)f^{\frac{1}{2}}(\nu) \right)^{2R_0} - f^{2R_0}\left(\frac{1+\nu}{2}\right), \end{aligned} \quad (21)$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

REMARK 2. Before proceeding to further results, we explain a little about the relation among the Corollary 2 and Theorem 1. Notice that the first inequality in Theorem 1 can be written as follow

$$\left(\frac{\nu}{\tau}\right)^\lambda \left[(f(0)\nabla_\tau f(1))^\lambda - f^\lambda(\tau) \right] \leq (f(0)\nabla_\nu f(1))^\lambda - f^\lambda(\nu), \quad (22)$$

with $0 \leq \nu < \tau \leq 1$ and $\lambda \geq 1$. While the second inequality in the same theorem can be stated in the following way

$$\left(\frac{1-\tau}{1-\nu}\right)^\lambda \left[(f(0)\nabla_\nu f(1))^\lambda - f^\lambda(\nu) \right] \leq (f(0)\nabla_\tau f(1))^\lambda - f^\lambda(\tau), \tag{23}$$

where $0 \leq \nu < \tau \leq 1$ and $\lambda \geq 1$. Consequently, the first inequality in Corollary 2 present one refining term of (22), while the second inequality in Corollary 2 present one refining term of (23). Therefore, Corollary 2 gives a considerable refinement of Theorem 1. Since Theorem 1 was a generalization of the results in [3, 12, 13], it follows that our results in this section provide better new estimates than the results in these references. This is the main significance of our results. In the next sections, we present explicit examples of refined inequalities for both scalars and matrices.

3. Applications to scalar means

In this section, by selecting some appropriate convex functions, we present different means inequalities that may be derived from our convexity results, which present one term refinements of the main results of [3, 12, 13].

When $a, b > 0$ and $p \in \mathbb{R} \setminus \{0\}$ the function $f(x) = a\#_{p,x}b := ((1-x)a^p + xb^p)^{1/p}$ is convex on $[0, 1]$. Applying Corollary 2 to this function we obtain the following theorem, that proves one term refinement and generalisation of the difference between the arithmetic and the power mean inequalities presented in Theorem 2.3 of [12].

THEOREM 4. *Let $a, b > 0$, $0 \leq \nu \leq \tau \leq 1$, $p \in \mathbb{R} \setminus \{0\}$ and $\lambda \geq 1$. Then*

$$\begin{aligned} \left(\frac{\nu}{\tau}\right)^\lambda \left((a\nabla_\tau b)^\lambda - (a\#_{(p,\tau)}b)^\lambda \right) + (2r_0)^\lambda \left((a\nabla(a\#_{(p,\tau)}b))^\lambda - (a\#_{(p,\frac{\tau}{2})}b)^\lambda \right) \\ \leq (a\nabla_\nu b)^\lambda - (a\#_{p,\nu}b)^\lambda, \end{aligned} \tag{24}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left((a\nabla_\nu b)^\lambda - (a\#_{(p,\nu)}b)^\lambda \right) + (2R_0)^\lambda \left((b\nabla(a\#_{(p,\nu)}b))^\lambda - (a\#_{(p,\frac{1+\nu}{2})}b)^\lambda \right) \\ \leq (a\nabla_\tau b)^\lambda - (a\#_{(p,\tau)}b)^\lambda, \end{aligned} \tag{25}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

By taking the limit for $p \rightarrow 0$ in Theorem 4, we obtain the following theorem, which present one refinement term of the main result of [3].

THEOREM 5. *Let $a, b > 0$, $0 \leq \nu \leq \tau \leq 1$ and $\lambda \geq 1$. Then we have*

$$\begin{aligned} \left(\frac{\nu}{\tau}\right)^\lambda \left((a\nabla_\tau b)^\lambda - (a\#_\tau b)^\lambda \right) + (2r_0)^\lambda \left((a\nabla(a\#_\tau b))^\lambda - (a\#_{\frac{\tau}{2}} b)^\lambda \right) \\ \leq (a\nabla_\nu b)^\lambda - (a\#_\nu b)^\lambda, \end{aligned} \tag{26}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left((a\nabla_\nu b)^\lambda - (a\#_\nu b)^\lambda\right) + \left(2R_0\right)^\lambda \left((b\nabla(a\#_\nu b))^\lambda - (a\#_{\frac{1+\nu}{2}} b)^\lambda\right) \\ & \leq \left(a\nabla_\tau b\right)^\lambda - \left(a\#_\tau b\right)^\lambda, \end{aligned} \tag{27}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Take $p = -1$ in Theorem 4, we obtain the following theorem, which is the corresponding refinement of theorem 2.1 in [13].

THEOREM 6. *Let $a, b > 0$, $0 \leq \nu \leq \tau \leq 1$ and $\lambda \geq 1$. Then we have*

$$\begin{aligned} & \left(\frac{\nu}{\tau}\right)^\lambda \left((a\nabla_\tau b)^\lambda - (a!_\tau b)^\lambda\right) + \left(2r_0\right)^\lambda \left((a\nabla(a!_\tau b))^\lambda - (a!_{\frac{\tau}{2}} b)^\lambda\right) \\ & \leq \left(a\nabla_\nu b\right)^\lambda - \left(a!_\nu b\right)^\lambda, \end{aligned} \tag{28}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left((a\nabla_\nu b)^\lambda - (a!_\nu b)^\lambda\right) + \left(2R_0\right)^\lambda \left((b\nabla(a!_\nu b))^\lambda - (a!_{\frac{1+\nu}{2}} b)^\lambda\right) \\ & \leq \left(a\nabla_\tau b\right)^\lambda - \left(a!_\tau b\right)^\lambda, \end{aligned} \tag{29}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

4. Some refinements of matrix inequalities

In this section, we present some new matrix inequalities, that extend some known results in the literature. We point out that the results in this section are valid for the algebra $\mathcal{B}(\mathcal{H})$ instead of \mathbf{M}_n . However, our discussion will be limited to \mathbf{M}_n only. We start this section by the following Lemma quoted from [16, p. 3].

LEMMA 4. *Let $A \in \mathbf{M}_n$ be Hermitian. If f and g are both continuous real valued functions on an interval that contains the spectrum of A , with $f(t) \geq g(t)$ for $t \in Sp(A)$ (where $Sp(A)$ stands for the spectrum of A), then $f(A) \geq g(A)$.*

The following theorem represents the matrix version of Theorem 4.

THEOREM 7. *Let $A, B \in \mathbf{M}_n^{+++}$, $0 < \nu \leq \tau < 1$, $p \in \mathbb{R} \setminus \{0\}$ and $\lambda \geq 1$. Then we have*

$$\begin{aligned} & \left(\frac{\nu}{\tau}\right)^\lambda \left(A\#_\lambda (A\nabla_\tau B) - A\#_\lambda (A\#_{p,\tau} B)\right) + \left(2r_0\right)^\lambda \left(A\#_\lambda (A\nabla(A\#_{p,\tau} B)) - A\#_{p,\frac{\tau}{2}} B\right) \\ & \leq A\#_\lambda (A\nabla_\nu B) - A\#_\lambda (A\#_{p,\nu} B), \end{aligned} \tag{30}$$

where $r_0 = \min\{\frac{v}{\tau}, 1 - \frac{v}{\tau}\}$, and

$$\begin{aligned} &\left(\frac{1-\tau}{1-v}\right)^\lambda \left(A\sharp_\lambda(A\nabla_v B) - A\sharp_\lambda(A\sharp_{p,v} B)\right) + \left(2R_0\right)^\lambda \left(A\sharp_\lambda(B\nabla(A\sharp_p, \tau B)) - A\sharp_{p, \frac{1+v}{2}} B\right) \\ &\leq A\sharp_\lambda(A\nabla_\tau B) - A\sharp_\lambda(A\sharp_{p,\tau} B), \end{aligned} \tag{31}$$

where $R_0 = \min\{\frac{1-\tau}{1-v}, 1 - \frac{1-\tau}{1-v}\}$.

Proof. Let $a = 1$ in inequality (24), then

$$\begin{aligned} &\left(\frac{v}{\tau}\right)^\lambda \left(\left((1-\tau) + \tau b\right)^\lambda - \left((1-\tau) + \tau b^p\right)^\frac{\lambda}{p}\right) \\ &+ (2r_0)^\lambda \left[\left(\frac{1 + \left((1-\tau) + \tau b^p\right)^\frac{1}{p}}{2}\right)^\lambda - \left(\left(1 - \frac{\tau}{2}\right) + \frac{\tau}{2} b^p\right)^\frac{\lambda}{p}\right] \\ &\leq \left((1-v) + vb\right)^\lambda - \left((1-v) + vb^p\right)^\frac{\lambda}{p}. \end{aligned} \tag{32}$$

The matrix $C := A^\frac{-1}{2} B A^\frac{-1}{2}$ has a positive spectrum, then by Lemma 4 and inequality (32) we get

$$\begin{aligned} &\left(\frac{v}{\tau}\right)^\lambda \left(\left((1-\tau)I + \tau C\right)^\lambda - \left((1-\tau)I + \tau C^p\right)^\frac{\lambda}{p}\right) \\ &+ (2r_0)^\lambda \left[\left(\frac{I + \left((1-\tau)I + \tau C^p\right)^\frac{1}{p}}{2}\right)^\lambda - \left(\left(1 - \frac{\tau}{2}\right)I + \frac{\tau}{2} C^p\right)^\frac{\lambda}{p}\right] \\ &\leq \left((1-v)I + vC\right)^\lambda - \left((1-v)I + vC^p\right)^\frac{\lambda}{p}. \end{aligned} \tag{33}$$

Finally, multiply the inequality (33) by $A^\frac{1}{2}$ on the left and right hand sides we get

$$\begin{aligned} &\left(\frac{v}{\tau}\right)^\lambda \left(A\sharp_\lambda(A\nabla_\tau B) - A\sharp_\lambda(A\sharp_{p,\tau} B)\right) + \left(2r_0\right)^\lambda \left(A\sharp_\lambda(A\nabla(A\sharp_p, \tau B)) - A\sharp_{p, \frac{\tau}{2}} B\right) \\ &\leq A\sharp_\lambda(A\nabla_v B) - A\sharp_\lambda(A\sharp_{p,v} B). \end{aligned}$$

Using the same technique, we can obtain the other inequality. This completes the proof. \square

The following lemma sets up the essential features for proving the next corollary.

LEMMA 5. ([24]) *Let $A, B \in \mathbf{M}_n^{++}$ and let α, β two real numbers. Then*

$$A\sharp_\alpha(A\sharp_\beta B) = A\sharp_{\alpha\beta} B.$$

Take the limit as $p \rightarrow 0$ in Theorem 7 and using Lemma 5, we obtain the following corollary which presents the matrix version of Theorem 5.

COROLLARY 4. Let $A, B \in \mathbf{M}_n^{++}$, $0 < \nu \leq \tau < 1$ and $\lambda \geq 1$. Then we have

$$\begin{aligned} \left(\frac{\nu}{\tau}\right)^\lambda \left(A\sharp_\lambda(A\nabla_\tau B) - A\sharp_{\lambda\tau} B\right) + \left(2r_0\right)^\lambda \left(A\sharp_\lambda(A\nabla(A\sharp_\tau B)) - A\sharp_{\frac{\tau}{2}} B\right) \\ \leq A\sharp_\lambda(A\nabla_\nu B) - A\sharp_{\lambda\nu} B, \end{aligned} \tag{34}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left(A\sharp_\lambda(A\nabla_\nu B) - A\sharp_{\lambda\nu} B\right) + \left(2R_0\right)^\lambda \left(A\sharp_\lambda(B\nabla(A\sharp_\tau B)) - A\sharp_{\frac{1+\nu}{2}} B\right) \\ \leq A\sharp_\lambda(A\nabla_\tau B) - A\sharp_{\lambda\tau} B, \end{aligned} \tag{35}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

By taking $p = -1$ in Theorem 7, we get the following result, which presents the matrix version of Theorem 6.

COROLLARY 5. Let $A, B \in \mathbf{M}_n^{++}$, $0 < \nu \leq \tau < 1$ and $\lambda \geq 1$. Then we have

$$\begin{aligned} \left(\frac{\nu}{\tau}\right)^\lambda \left(A\sharp_\lambda(A\nabla_\tau B) - A\sharp_\lambda(A!_\tau B)\right) + \left(2r_0\right)^\lambda \left(A\sharp_\lambda(A\nabla(A!_\tau B)) - A!_{\frac{\tau}{2}} B\right) \\ \leq A\sharp_\lambda(A\nabla_\nu B) - A\sharp_\lambda(A!_\nu B), \end{aligned} \tag{36}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left(A\sharp_\lambda(A\nabla_\nu B) - A\sharp_\lambda(A!_\nu B)\right) + \left(2R_0\right)^\lambda \left(A\sharp_\lambda(B\nabla(A!_\tau B)) - A!_{\frac{1+\nu}{2}} B\right) \\ \leq A\sharp_\lambda(A\nabla_\tau B) - A\sharp_\lambda(A!_\tau B), \end{aligned} \tag{37}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

5. Matrix norm inequalities

In this part of the paper, by selecting some appropriate convex and log-convex functions, we obtain new refinements of some results in [18].

5.1. Matrix norm inequalities via convexity

The classical Young inequality $a\sharp_\nu b \leq a\nabla_\nu b$ has been extended to matrices as follows

$$\| |A^{1-\nu}XB^\nu| \| \leq (1-\nu)\| |AX| \| + \nu\| |XB| \|, 0 \leq \nu \leq 1. \tag{38}$$

It is known that for two matrices $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n$, the function $f(\nu) = \| |A^{1-\nu}XB^\nu| \|$ is convex on $[0, 1]$, for any unitarily invariant norm $\| \cdot \|$ on \mathbf{M}_n (see [19]). Then by using Corollary 2 we obtain the following theorem which present one refinement term of the corresponding Young’s inequality (38) for matrices.

THEOREM 8. *Let $A, B \in \mathbf{M}_n^{++}$, $X \in \mathbf{M}_n \setminus \{0\}$, $0 < \nu \leq \tau < 1$ and $\lambda \geq 1$. Then we have*

$$\begin{aligned} & \left(\frac{\nu}{\tau}\right)^\lambda \left((\| \|AX\| \| \nabla_\tau \| XB\| \|)^\lambda - (\| \|A^{1-\tau}XB^\tau\| \|)^\lambda \right) \\ & \quad + (2r_0)^\lambda \left((\| \|AX\| \| \nabla \| \|A^{1-\tau}XB^\tau\| \|)^\lambda - \| \|A^{1-\frac{\tau}{2}}XB^{\frac{\tau}{2}}\| \|^\lambda \right) \\ & \leq \left((1-\nu)\| \|AX\| \| + \nu\| \|XB\| \| \right)^\lambda - \left(\| \|A^{1-\nu}XB^\nu\| \| \right)^\lambda. \end{aligned} \tag{39}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left((\| \|AX\| \| \nabla_\nu \| \|XB\| \|)^\lambda - (\| \|A^{1-\nu}XB^\nu\| \|)^\lambda \right) \\ & \quad + (2R_0)^\lambda \left((\| \|XB\| \| \nabla \| \|A^{1-\nu}XB^\nu\| \|)^\lambda - \| \|A^{1-\frac{1+\nu}{2}}XB^{\frac{1+\nu}{2}}\| \|^\lambda \right) \\ & \leq \left((1-\tau)\| \|AX\| \| + \tau\| \|XB\| \| \right)^\lambda - \left(\| \|A^{1-\tau}XB^\tau\| \| \right)^\lambda, \end{aligned} \tag{40}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Also it is known that for two matrices $A, B \in \mathbf{M}_n^+$ the function $f(\nu) = \text{tr}(A^{1-\nu}B^\nu)$ is convex on $[0, 1]$, (see [19]). Then by using Corollary 2, we obtain the following theorem which present one refinement term of the corresponding Young’s inequality for trace of matrices.

THEOREM 9. *Let $A, B \in \mathbf{M}_n^+$, $0 < \nu \leq \tau < 1$ and $\lambda \geq 1$. Then we have*

$$\begin{aligned} & \left(\frac{\nu}{\tau}\right)^\lambda \left\{ \text{tr}^\lambda (A \nabla_\tau B) - \text{tr}^\lambda (A^{1-\tau}B^\tau) \right\} \\ & \quad + (2r_0)^\lambda \left((\text{tr}(A) \nabla \text{tr}(A^{1-\tau}B^\tau))^\lambda - \text{tr}^\lambda (A^{1-\frac{\tau}{2}}B^{\frac{\tau}{2}}) \right) \\ & \leq \text{tr}^\lambda (A \nabla_\nu B) - \text{tr}^\lambda (A^{1-\nu}B^\nu), \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left\{ \text{tr}^\lambda (A \nabla_\nu B) - \text{tr}^\lambda (A^{1-\nu}B^\nu) \right\} \\ & \quad + (2R_0)^\lambda \left((\text{tr}(B) \nabla \text{tr}(A^{1-\nu}B^\nu))^\lambda - \text{tr}^\lambda (A^{1-\frac{1+\nu}{2}}B^{\frac{1+\nu}{2}}) \right) \\ & \leq \text{tr}^\lambda (A \nabla_\tau B) - \text{tr}^\lambda (A^{1-\tau}B^\tau), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Now, for two matrices $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n$, we consider the function $f(\nu) = \| \|A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu}\| \|$. From [18], we know that this function is convex on $[0, 1]$, for any unitarily invariant norm $\| \cdot \|$ on \mathbf{M}_n . Consequently, we may apply Corollary 2 for this function to get the following Heinz-type inequality [1].

THEOREM 10. *Let $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n, X \neq 0, 0 < \nu \leq \tau < 1$ and $\lambda \geq 1$. Then, for any unitarily invariant norm $\|\cdot\|$, we have*

$$\begin{aligned} \|\|AX + XB\|\|^\lambda &\geq \| \|A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu}\|^\lambda \\ &\quad + \left(\frac{\nu}{\tau}\right)^\lambda \left(\|\|AX + XB\|\|^\lambda - \| \|A^{1-\tau}XB^\tau + A^\tau XB^{1-\tau}\|^\lambda \right) \\ &\quad + (2r_0)^\lambda \left((\|\|AX + XB\|\|\nabla\| \|A^{1-\tau}XB^\tau + A^\tau XB^{1-\tau}\|^\lambda \right. \\ &\quad \left. - \| \|A^{1-\frac{\tau}{2}}XB^{\frac{\tau}{2}} + A^{\frac{\tau}{2}}XB^{1-\frac{\tau}{2}}\|^\lambda \right), \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} \|\|AX + XB\|\|^\lambda &\geq \| \|A^{1-\tau}XB^\tau + A^\tau XB^{1-\tau}\|^\lambda \\ &\quad + \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left(\|\|AX + XB\|\|^\lambda - \| \|A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu}\|^\lambda \right) \\ &\quad + (2R_0)^\lambda \left((\|\|AX + XB\|\|\nabla\| \|A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu}\|^\lambda \right. \\ &\quad \left. - \| \|A^{1-\frac{1+\nu}{2}}XB^{\frac{1+\nu}{2}} + A^{\frac{1+\nu}{2}}XB^{1-\frac{1+\nu}{2}}\|^\lambda \right), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Let A and B be two Hermitian matrices and let g be convex function on \mathbb{R} . Then

$$f_k(t) = \sum_{j=1}^k \lambda_j(g((1-t)A + tB)), 1 \leq k \leq n$$

is convex function on \mathbb{R} for any $k \in \{1, \dots, n\}$. By applying Corollary 2 for the function $f_k(t) = \sum_{j=1}^k \lambda_j((1-t)A + tB), 0 \leq t \leq 1$, we obtain the following eigenvalues version.

COROLLARY 6. *Let A and B be Hermitian in \mathbf{M}_n and let $0 < \nu \leq \tau < 1$. Then for $1 \leq k \leq n$ and $\lambda \geq 1$, we have*

$$\begin{aligned} &\left(\sum_{j=1}^k ((1-\nu)\lambda_j(A) + \nu\lambda_j(B)) \right)^\lambda - \left(\sum_{j=1}^k \lambda_j((1-\nu)A + \nu B) \right)^\lambda \\ &\quad - (2r_0)^\lambda \left[\left(\left(\sum_{j=1}^k \lambda_j(A) \right) \nabla \left(\sum_{j=1}^k \lambda_j((1-\tau)A + \tau B) \right) \right)^\lambda \right. \\ &\quad \left. - \left(\sum_{j=1}^k \lambda_j \left(\left(1 - \frac{\tau}{2}\right)A + \frac{\tau}{2}B \right) \right)^\lambda \right] \\ &\geq \left(\frac{\nu}{\tau}\right)^\lambda \left(\left(\sum_{j=1}^k ((1-\tau)\lambda_j(A) + \tau\lambda_j(B)) \right)^\lambda - \left(\sum_{j=1}^k \lambda_j((1-\tau)A + \tau B) \right)^\lambda \right), \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \left(\sum_{j=1}^k ((1-\tau)\lambda_j(A) + \tau\lambda_j(B)) \right)^\lambda - \left(\sum_{j=1}^k \lambda_j((1-\tau)A + \tau B) \right)^\lambda \\ & - (2R_0)^\lambda \left[\left(\left(\sum_{j=1}^k \lambda_j(B) \right) \nabla \left(\sum_{j=1}^k \lambda_j((1-\nu)A + \nu B) \right) \right)^\lambda \right. \\ & \left. - \left(\sum_{j=1}^k \lambda_j \left(\left(1 - \frac{1+\nu}{2} \right) A + \frac{1+\nu}{2} B \right) \right)^\lambda \right] \\ & \geq \left(\frac{1-\tau}{1-\nu} \right)^\lambda \left(\left(\sum_{j=1}^k ((1-\nu)\lambda_j(A) + \nu\lambda_j(B)) \right)^\lambda - \left(\sum_{j=1}^k \lambda_j((1-\nu)A + \nu B) \right)^\lambda \right), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Notice that $\sum_{j=1}^k \lambda_j(A)$ becomes the Ky Fan’s norm $\|A\|_{(k)}$ when A is positive [1]. In this case, the above inequality may be stated as follows.

COROLLARY 7. *Let $A, B \in \mathbf{M}_n^+$ and $0 < \nu \leq \tau < 1$. Then for $1 \leq k \leq n$ and $\lambda \geq 1$, we have*

$$\begin{aligned} & \left(((1-\nu)\|A\|_{(k)} + \nu\|B\|_{(k)})^\lambda - (\|(1-\nu)A + \nu B\|_{(k)})^\lambda \right) \\ & - (2r_0)^\lambda \left[(\|A\|_{(k)} \nabla \|(1-\tau)A + \tau B\|_{(k)})^\lambda - \left(\left\| \left(1 - \frac{\tau}{2} \right) A + \frac{\tau}{2} B \right\|_{(k)} \right)^\lambda \right] \\ & \geq \left(\frac{\nu}{\tau} \right)^\lambda \left(((1-\tau)\|A\|_{(k)} + \tau\|B\|_{(k)})^\lambda - (\|(1-\tau)A + \tau B\|_{(k)})^\lambda \right), \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & ((1-\tau)\|A\|_{(k)} + \tau\|B\|_{(k)})^\lambda - (\|(1-\tau)A + \tau B\|_{(k)})^\lambda \\ & - (2R_0)^\lambda \left[(\|B\|_{(k)} \nabla \|(1-\nu)A + \nu B\|_{(k)})^\lambda - \left(\left\| \left(1 - \frac{1+\nu}{2} \right) A + \frac{1+\nu}{2} B \right\|_{(k)} \right)^\lambda \right] \\ & \geq \left(\frac{1-\tau}{1-\nu} \right)^\lambda \left(((1-\nu)\|A\|_{(k)} + \nu\|B\|_{(k)})^\lambda - (\|(1-\nu)A + \nu B\|_{(k)})^\lambda \right), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

5.2. Matrix inequalities via log-convexity

For all $A, B \in \mathbf{M}_n$, any real number $r > 0$ and every unitarily invariant norm, Horn and Mathias [8, 9] obtained the following matrix Cauchy-Schwarz inequality

$$\| \| |A^*B|^r \| \|^2 \leq \| \| (A^*A)^r \| \| \| (B^*B)^r \| \| . \tag{41}$$

Bhatia and Davis proved in [4] a more general form of Cauchy-Schwarz inequality; for $A, B \in \mathbf{M}_n^+, X \in \mathbf{M}_n$ and $r > 0$,

$$\| \| |A^*XB|^r \| \| \leq \| \| |AA^*X|^r \| \| \cdot \| \| |XBB^*|^r \| \|, \tag{42}$$

which is equivalent to,

$$\| \| |A^{\frac{1}{2}}XB^{\frac{1}{2}}|^r \| \| ^2 \leq \| \| |AX|^r \| \| \cdot \| \| |XB|^r \| \| . \tag{43}$$

For $A, B \in \mathbf{M}_n^+$ and $\nu \in [0, 1]$, we have the Hölder type inequality [11]

$$\| \| |A^{1-\nu}XB^\nu|^r \| \| \leq \| \| |AX|^r \| \|^{1-\nu} \cdot \| \| |XB|^r \| \|^\nu. \tag{44}$$

Let $A, B \in \mathbf{M}_n^{++}$ and $X \in \mathbf{M}_n$, the function $f(\nu) = \| \| |A^{1-\nu}XB^\nu|^r \| \|$ is log-convex on $[0, 1]$, for any unitarily invariant norm $\| \| \cdot \| \|$ on \mathbf{M}_n (see [11]). By applying Corollary 3, we obtain the following new refinement and reverse of the Hölder type inequality (44).

THEOREM 11. *Let $A, B \in \mathbf{M}_n^{++}$, $X \in \mathbf{M}_n$ and $0 < \nu \leq \tau < 1$. Then*

$$\begin{aligned} \| \| |AX|^r \| \|^{1-\nu} \cdot \| \| |XB|^r \| \|^\nu &\geq \| \| |A^{1-\nu}XB^\nu|^r \| \| \\ &+ \left(\| \| |AX|^r \| \|^{1-\tau} \cdot \| \| |XB|^r \| \|^\tau \right)^{\frac{\nu}{\tau}} - \| \| |A^{1-\tau}XB^\tau|^r \| \|^\frac{\nu}{\tau} \\ &+ \left(\sqrt{\| \| |AX|^r \| \| \cdot \| \| |A^{1-\tau}XB^\tau|^r \| \|} \right)^{2r_0} - \| \| |A^{1-\frac{\tau}{2}}XB^{\frac{\tau}{2}}|^r \| \|^{2r_0}, \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} \| \| |AX|^r \| \|^{1-\tau} \cdot \| \| |XB|^r \| \|^\tau &\geq \| \| |A^{1-\tau}XB^\tau|^r \| \| \\ &+ \left(\| \| |AX|^r \| \|^{1-\nu} \cdot \| \| |XB|^r \| \|^\nu \right)^{\frac{1-\tau}{1-\nu}} - \| \| |A^{1-\tau}XB^\tau|^r \| \|^{1-\frac{\tau}{1-\nu}} \\ &+ \left(\sqrt{\| \| |XB|^r \| \| \cdot \| \| |A^{1-\nu}XB^\nu|^r \| \|} \right)^{2R_0} - \| \| |A^{1-\frac{1+\nu}{2}}XB^{\frac{1+\nu}{2}}|^r \| \|^{2R_0}, \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

For every $A, B \in \mathbf{M}_n^{++}$ and $X \in \mathbf{M}_n$, the function $f(\nu) = \| \| |A^\nu XB^\nu|^r \| \|$ is log-convex on $[0, 1]$, for any unitarily invariant norm $\| \| \cdot \| \|$ on \mathbf{M}_n (see [11]). Applying Corollary 3, we obtain the following new refinement and reverse of the Hölder type inequality (44).

THEOREM 12. *Let $A, B \in \mathbf{M}_n^{++}$, $X \in \mathbf{M}_n$ and $0 < \nu \leq \tau < 1$. Then*

$$\begin{aligned} \| \| |AXB|^r \| \|^\nu \cdot \| \| |X|^r \| \|^{1-\nu} &\geq \| \| |A^\nu XB^\nu|^r \| \| \\ &+ \left(\| \| |AXB|^r \| \|^\tau \cdot \| \| |X|^r \| \|^{1-\tau} \right)^{\frac{\nu}{\tau}} - \| \| |A^\tau XB^\tau|^r \| \|^\frac{\nu}{\tau} \\ &+ \left(\sqrt{\| \| |AXB|^r \| \| \cdot \| \| |A^\tau XB^\tau|^r \| \|} \right)^{2r_0} - \| \| |A^{\frac{\tau}{2}}XB^{\frac{\tau}{2}}|^r \| \|^{2r_0}, \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \left\| |AXB|^r \right\|^\tau \cdot \left\| |X|^r \right\|^{1-\tau} \geq \left\| |A^\tau XB^\tau|^r \right\| \\ & \quad + \left(\left\| |AXB|^r \right\|^\nu \cdot \left\| |X|^r \right\|^{1-\nu} \right)^{\frac{1-\tau}{\nu}} - \left\| |A^\tau XB^\tau|^r \right\|^{\frac{1-\tau}{\nu}} \\ & \quad + \left(\sqrt{\left\| |AXB|^r \right\| \cdot \left\| |A^\nu XB^\nu|^r \right\|} \right)^{2R_0} - \left\| |A^{\frac{1+\nu}{2}} XB^{\frac{1+\nu}{2}}|^r \right\|^{2R_0}, \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Notice that Theorem 12 present two refining terms and it reversed for the correspondent Hölder type inequalities for unitary invariant norm. In particular for $X = I$, we get the following theorem which present two refinement terms and reverses of the classical inequality $\left\| |AB|^r \right\|^\nu \geq \left\| |A^\nu B^\nu|^r \right\|$, for $0 < \nu \leq 1$.

THEOREM 13. *Let $A, B \in \mathbf{M}_n^{++}$ and $0 < \nu \leq \tau < 1$. Then*

$$\begin{aligned} & \left\| |AB|^r \right\|^\nu \geq \left\| |A^\nu B^\nu|^r \right\| \\ & \quad + \left(\left\| |AB|^r \right\|^\tau \right)^{\frac{\nu}{\tau}} - \left\| |A^\tau B^\tau|^r \right\|^{\frac{\nu}{\tau}} \\ & \quad + \left(\sqrt{\left\| |AB|^r \right\| \cdot \left\| |A^\tau B^\tau|^r \right\|} \right)^{2r_0} - \left\| |A^{\frac{\tau}{2}} B^{\frac{\tau}{2}}|^r \right\|^{2r_0}, \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \left\| |AB|^r \right\|^\tau \geq \left\| |A^\tau B^\tau|^r \right\| \\ & \quad + \left(\left\| |AB|^r \right\|^\nu \right)^{\frac{1-\tau}{1-\nu}} - \left\| |A^\tau XB^\tau|^r \right\|^{\frac{1-\tau}{1-\nu}} \\ & \quad + \left(\sqrt{\left\| |AB|^r \right\| \cdot \left\| |A^\nu B^\nu|^r \right\|} \right)^{2R_0} - \left\| |A^{\frac{1+\nu}{2}} B^{\frac{1+\nu}{2}}|^r \right\|^{2R_0}, \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

It was shown in [11], that the function $f(\nu) = \text{tr}(A^{1-\nu}B^\nu)$ is log-convex on $[0, 1]$. Applying Corollary 3, we obtain the following new refinement and reverse of the Hölder type inequality for traces.

THEOREM 14. *Let $A, B \in \mathbf{M}_n^{++}$, $X \in \mathbf{M}_n$ and $0 < \nu \leq \tau < 1$. Then*

$$\begin{aligned} & \text{tr}^{1-\nu}(A)\text{tr}^\nu(B) \geq \text{tr}(A^{1-\nu}B^\nu) \\ & \quad + \left(\text{tr}^{1-\tau}(A)\text{tr}^\tau(B) \right)^{\frac{\nu}{\tau}} - \text{tr}^{\frac{\nu}{\tau}}(A^{1-\tau}B^\tau) \\ & \quad + \left(\sqrt{\text{tr}(A)\text{tr}(A^{1-\tau}B^\tau)} \right)^{2r_0} - \text{tr}^{2r_0} \left(A^{1-\frac{\tau}{2}} B^{\frac{\tau}{2}} \right), \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} & \text{tr}^{1-\tau}(A)\text{tr}^\tau(B) \geq \text{tr}(A^{1-\tau}B^\tau) \\ & \quad + \left(\text{tr}^{1-\nu}(A)\text{tr}^\nu(B) \right)^{\frac{1-\tau}{1-\nu}} - \text{tr}^{\frac{1-\tau}{1-\nu}}(A^{1-\nu}B^\nu) \\ & \quad + \left(\sqrt{\text{tr}(B)\text{tr}(A^{1-\nu}B^\nu)} \right)^{2r_0} - \text{tr}^{2r_0} \left(A^{1-\frac{1+\nu}{2}} B^{\frac{1+\nu}{2}} \right), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

The previous Theorem present two refining terms and it reversed for Hölder type inequalities for the trace.

6. Inequalities for generalized numerical radius

The generalized numerical radius for A , denoted by $w_N(A)$, is obtained via the supremum of the norm over the real parts of all rotations of A i.e.

$$w_N(A) = \sup_{\theta \in \mathbb{R}} N\left(\operatorname{Re}\left(e^{i\theta}A\right)\right).$$

Where $X = \operatorname{Re}(X) + i\operatorname{Im}(X)$ is the Cartesian decomposition of $X \in \mathbf{M}_n, \operatorname{Re}(X) = \frac{X+X^*}{2}$ and $\operatorname{Im}(X) = \frac{X-X^*}{2i}$, and X^* denotes the adjoint of X . Simple computation shows that when N is the usual operator norm inherited from the inner product on H then $w_N(\cdot)$ coincides with the usual numerical radius norm $w(\cdot)$ which is defined as

$$w(A) = \sup_{\|x\|=1} |\langle Ax, x \rangle|.$$

On the other hand, it is known that if $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n$, then the function $f(\nu) = w_N(A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu})$ is convex on $[0, 1]$, for any unitarily invariant norm $N(\cdot)$ on \mathbf{M}_n , [1]. Consequently, we may apply Corollary 2 for this function to get the following Heinz-type inequality for the numerical radius.

THEOREM 15. *Let $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n, X \neq 0, 0 < \nu \leq \tau < 1$ and $\lambda \geq 1$. Then, for any unitarily invariant norm $\|\cdot\|$, we have*

$$\begin{aligned} w_N(AX + XB)^\lambda &\geq w_N(A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu})^\lambda \\ &\quad + \left(\frac{\nu}{\tau}\right)^\lambda \left(w_N(AX + XB)^\lambda - w_N(A^{1-\tau}XB^\tau + A^\tau XB^{1-\tau})^\lambda\right) \\ &\quad + (2r_0)^\lambda \left(\left(w_N(AX + XB)\nabla w_N(A^{1-\tau}XB^\tau + A^\tau XB^{1-\tau})\right)^\lambda \right. \\ &\quad \left. - w_N(A^{1-\frac{\tau}{2}}XB^{\frac{\tau}{2}} + A^{\frac{\tau}{2}}XB^{1-\frac{\tau}{2}})^\lambda\right), \end{aligned}$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$\begin{aligned} w_N(AX + XB)^\lambda &\geq w_N(A^{1-\tau}XB^\tau + A^\tau XB^{1-\tau})^\lambda \\ &\quad + \left(\frac{1-\tau}{1-\nu}\right)^\lambda \left(w_N(AX + XB)^\lambda - w_N(A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu})^\lambda\right) \\ &\quad + (2R_0)^\lambda \left(\left(w_N(AX + XB)\nabla w_N(A^{1-\nu}XB^\nu + A^\nu XB^{1-\nu})\right)^\lambda \right. \\ &\quad \left. - w_N(A^{1-\frac{1+\nu}{2}}XB^{\frac{1+\nu}{2}} + A^{\frac{1+\nu}{2}}XB^{1-\frac{1+\nu}{2}})^\lambda\right), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Let $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n$, then the function $f(v) = w_N(A^{1-v}XB^v)$ is convex on $[0, 1]$, for any unitarily invariant norm $N(\cdot)$ on \mathbf{M}_n , (see [1]). Consequently, we may apply Corollary 2 for this function to get the following Young-type inequality for the numerical radius.

THEOREM 16. *Let $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n, X \neq 0, 0 < v \leq \tau < 1$ and $\lambda \geq 1$. Then, for any unitarily invariant norm $N(\cdot)$, we have*

$$\begin{aligned} & (w_N(AX)\nabla_v w_N(XB))^\lambda \\ & \geq w_N^\lambda(A^{1-v}XB^v) + \left(\frac{v}{\tau}\right)^\lambda \left((w_N(AX)\nabla_\tau w_N(XB))^\lambda - w_N^\lambda(A^{1-\tau}XB^\tau) \right) \\ & \quad + (2r_0)^\lambda \left((w_N(AX)\nabla w_N(A^{1-\tau}XB^\tau))^\lambda - w_N(A^{1-\frac{\tau}{2}}XB^{\frac{\tau}{2}})^\lambda \right), \end{aligned}$$

where $r_0 = \min\{\frac{v}{\tau}, 1 - \frac{v}{\tau}\}$, and

$$\begin{aligned} & (w_N(AX)\nabla_\tau w_N(XB))^\lambda \\ & \geq w_N^\lambda(A^{1-\tau}XB^\tau) + \left(\frac{1-\tau}{1-v}\right)^\lambda \left((w_N(AX)\nabla_v w_N(XB))^\lambda - w_N^\lambda(A^{1-v}XB^v) \right) \\ & \quad + (2R_0)^\lambda \left((w_N(XB)\nabla w_N(A^{1-v}XB^v))^\lambda - w_N(A^{1-\frac{1+v}{2}}XB^{\frac{1+v}{2}})^\lambda \right), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-v}, 1 - \frac{1-\tau}{1-v}\}$.

On the other hand, by using [1] and Proposition 2.5 of [23] it is known that if $A, B \in \mathbf{M}_n^+$ and $X \in \mathbf{M}_n$, then the function $f(v) = w_N(A^vXB^v)$ is log-convex on $[0, 1]$, for any unitarily invariant norm $N(\cdot)$ on \mathbf{M}_n , [1]. Consequently, we may apply Corollary 2 using this function to get the following Heinz-type inequality for the numerical radius.

THEOREM 17. *Let $A, B \in \mathbf{M}_n^{++}, X \in \mathbf{M}_n$ and $0 < v \leq \tau < 1$. Then*

$$\begin{aligned} & w_N^{1-v}(X)w_N^v(AXB) \\ & \geq w_N(A^vXB^v) + (w_N^{1-\tau}(X)w_N^\tau(AXB))^{\frac{v}{\tau}} - w_N^{\frac{v}{\tau}}(A^\tau XB^\tau) \\ & \quad + \left(\sqrt{w_N(AXB)w_N(A^\tau XB^\tau)}\right)^{2r_0} - w_N^{2r_0}(A^{1-\frac{\tau}{2}}XB^{\frac{\tau}{2}}), \end{aligned}$$

where $r_0 = \min\{\frac{v}{\tau}, 1 - \frac{v}{\tau}\}$, and

$$\begin{aligned} & w_N^{1-\tau}(X)w_N^\tau(AXB) \\ & \geq w_N(A^\tau XB^\tau) + (w_N^{1-v}(X)w_N^v(AXB))^{\frac{1-\tau}{1-v}} - w_N^{\frac{1-\tau}{1-v}}(A^{1-v}XB^{1-v}) \\ & \quad + \left(\sqrt{w_N(X)w_N(A^vXB^v)}\right)^{2r_0} - w_N^{2r_0}(A^{1-\frac{1+v}{2}}XB^{\frac{1+v}{2}}), \end{aligned}$$

where $R_0 = \min\{\frac{1-\tau}{1-v}, 1 - \frac{1-\tau}{1-v}\}$.

In particular for $X = I$ we get the following theorem.

THEOREM 18. *Let $A, B \in \mathbf{M}_n^{++}$, $X \in \mathbf{M}_n$ and $0 < \nu \leq \tau < 1$. Then*

$$w_N^\nu(AB) \geq w_N(A^\nu B^\nu) + (w_N^\tau(AB))^{\frac{\nu}{\tau}} - w_N^{\frac{\nu}{\tau}}(A^\tau B^\tau) \\ + \left(\sqrt{w_N(AB)w_N(A^\tau X B^\tau)} \right)^{2r_0} - w_N^{2r_0}(A^{1-\frac{\tau}{2}} B^{\frac{\tau}{2}}),$$

where $r_0 = \min\{\frac{\nu}{\tau}, 1 - \frac{\nu}{\tau}\}$, and

$$w_N^\tau(AB) \geq w_N(A^\tau B^\tau) + (w_N^\nu(AB))^{\frac{1-\tau}{1-\nu}} - w_N^{\frac{1-\tau}{1-\nu}}(A^{1-\nu} B^{1-\nu}) \\ + \left(\sqrt{w_N(A^\nu B^\nu)} \right)^{2R_0} - w_N^{2R_0}(A^{1-\frac{1+\nu}{2}} B^{\frac{1+\nu}{2}}),$$

where $R_0 = \min\{\frac{1-\tau}{1-\nu}, 1 - \frac{1-\tau}{1-\nu}\}$.

Acknowledgements. The authors would like to thank the referee for carefully reading our manuscript and for making valuable suggestions.

REFERENCES

- [1] H. ABBAS, S. HARB AND H. ISSA, *Convexity and inequalities of some generalized numerical radius functions*, *Filomat* **36** (5) (2022) 1649–1662.
- [2] Y. AL-MANASRAH AND F. KITTANEH, *Further generalization refinements and reverses of the Young and Heinz inequalities*, *Results Math.* **19** (2016) 757–768.
- [3] H. ALZER, C. M. FONSECA AND A. KOVAČES, *Young-type inequalities and their matrix analogues*, *Linear Multilinear Algebra*. **63** (3) (2015) 622–635.
- [4] R. BHATIA AND C. DAVIS, *A Cauchy-Schwarz inequality for operators with applications*, *Linear Algebra Appl.* **223/224** (1995) 119–129.
- [5] J. BOURIN, *Some inequalities for norms on matrices and operators*, *Linear Algebra Appl.* **292** (1999) 139–154.
- [6] D. CHOI, M. KRNIĆ AND J. PECARIĆ, *Improved Jensen-type inequalities via linear interpolation and applications*, *Journal of Mathematical Inequalities* **11** (2) (2017) 301–322.
- [7] S. S. DRAGOMIR, J. E. PEČARIĆ AND L. E. PERSSON, *Properties of some functionals related to Jensen's inequality*, *Acta Math. Hungar.* **70** (1996) 129–143.
- [8] R. A. HORN AND R. MATHIAS, *Cauchy-Schwarz inequalities associated with positive semi-definite matrices*, *Linear Algebra Appl.* **142** (1990) 63–82.
- [9] R. A. HORN AND R. MATHIAS, *An analog of the Cauchy-Schwarz inequality for Hadamard products and unitarily invariant norms*, *SIAM J. Matrix Anal. Appl.* **11** (1990) 481–498.
- [10] D. Q. HUY, D. T. T. VAN AND D. T. XINH, *Some generalizations of real power form for Young-type inequalities and their applications*, *Linear Algebra App.* **656** (2023) 368–384.
- [11] Y. KAPIL, R. PAL, M. SINGH AND J. S. AUJLA, *Some norm inequalities for operators*, *Advances in Operator Theory* **5** (2020) 627–639.
- [12] M. KHOSRAVI, *Some matrix inequalities for weighted power mean*, *Ann. Func. Anal.* **7** (2016) 348–357.
- [13] J. LIAO AND J. WU, *Matrix inequalities for the difference between arithmetic mean and harmonic mean*, *Ann. Func. Anal.* **6** (2015) 191–202.
- [14] A. W. MARSHALL, I. OLKIN AND B. C. ARNOLD, *Inequalities: Theory of Majorization and Its Applications*, second edition, Springer Series in Statistics, Springer, New York (2011).
- [15] D. S. MITRINOVIC AND J. PECARIC, *Note on a class of functions of Godunova and Levin*, *Math. Acad. Sci. Soc. R. Can.* **12** (1990) 33–36.

- [16] J. PEČARIĆ, T. FURUTA, T. MIČIĆ AND T. SEO, *Mond-Pečarić method in operator inequalities*, Element, Zagreb (2005).
- [17] M. SABABHEH, *Interpolated inequalities for unitarily invariant norms*, Linear Algebra Appl. **475** (2015) 240–250.
- [18] M. SABABHEH, *Convexity and matrix means*, Linear Algebra App. **506** (2016) 588–602.
- [19] M. SABABHEH, *Log and harmonically log-convex functions related to matrix norms*, Oper. Matrices **10** (2) (2016) 453–465.
- [20] M. SABABHEH, *Graph indices via the AM-GM inequality*, Discrete Appl. Math. **230** (4) (2017) 100–111.
- [21] M. SABABHEH, *Means refinements via convexity*, Mediterr. J. Math. **14** (2017) 125.
- [22] M. SABABHEH, *Convex functions and means of matrices*, Math. Ineq. Appl. **20** (1) (2017) 29–47.
- [23] M. SABABHEH, *Numerical radius inequalities via convexity*, Linear Algebra App. 549 (15) (2018) 67–78.
- [24] C. YANG AND Y. LI, *A New Young Type Inequality Involving Heinz Mean*, Filomat **34** (11) (2020) 3639–3654.

(Received October 29, 2022)

Mohamed Amine Ighachane
Sciences and Technologies Team (ESTE)
Higher School of Education and Training of El Jadida
Chouaib Doukkali University
El Jadida, Morocco
e-mail: mohamedamineighachane@gmail.com

Mohammed Bouchangour
Department of Mathematics, LIABM Laboratory
Faculty of Sciences, Mohammed First University
B. P. 717, 60000 Oujda, Morocco
e-mail: m.bouchangour@ump.ac.ma